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All answers should be written on the ANSWER SHEET.
Section A — each question carries 4 marks

1)

2)

3)

4)

5)

6)

7)

8)

There are two approaches for Charles to go home, either he directly goes home or goes home via the
library. If there are 2 routes from the school to the library, 3 routes from the library to his home, and 4
ways to go home directly, how many different ways are there for Charles to go home?

Represent 17 +22 in recurring decimals.

Find the value of 2016x1984.

The confectionary sells some candies at a price of $8. When half of the candies are sold, the cost are
covered; when candies are sold he has a profit of $400. How many candies are there?

A rectangle has an area of 2016cm?. If the length and width of the rectangle are both integers in cm, what
is the least possible perimeter among that rectangle?

When a 4-digit positive number is divided by 12, it has a remainder of 8; when it divided by 13, it has a
remainder of 9; when it is divided by 15, it has a remainder of 11. Find the least possible value of the
number.

The hour-hand and the minute-hand of an analog clock overlaps at x minutes past 2. Find the value of x,
show your answer in fractional form, given x is not an integer.

The figure below is formed by three semi-circle, the radius of the biggest semi-circle is 100cm. Find the
perimeter of the figure. (7 =3.14)

~ End of section A ~
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



All answers should be written on the ANSWER SHEET.
Section B — each question carries 5 marks

9) Among 20 students including Lan and Wah ,3 are chosen to join a competition. If at least one of Wah and
Lan has to join the competition, how many different ways are there to choose the 3 students?

10) Find the value of O.éé+ 0.é9é and show your answer in fractions.

11) Find the value of 49§+4121 + 125 + 25 0 L

+ - :
63 126 252 504 1008 2016

12) A shop buys some food and mark the price at an expected profit of 60%. After 60% of the product are
sold, the shop sold the remaining product at half the price. What is the percentage profit of the shop
selling this food?

13) Three numbers are formed by using numerals 0, 1,2 ,3 ,6 and 8. The three numbers are then multiplied.
Find the smallest possible product.

14) A solid cuboid is formed by merging 2016 cubes with side length 1cm. Find the total surface area of the
cuboid when the cuboid is arranged in a way that the total surface area is at its minimum.

15) It takes Sam, Leo, and Benson 14, 21 and 70 days respectively to finish the job alone. If three people
work together, at which day the job is finished?

16) Bottle A and Bottle B each contain saline with concentration 70% and 40% respectively. If the contents
of both bottles are mixed a saline with concentration 50% is formed, and an additional 600 grams of 20%
solutions will yield a solution with concentration 35%. Find the mass of content of Bottle A.

~ End of section B ~
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All answers should be written on the ANSWER SHEET.

Section C — each question carries 7 marks

17) The figure below shows a cubic container whose inner length is 54cm containing paint with 25cm deep.
The base of the iron cuboid is a square with side length 36cm. The iron cuboid is inserted vertically into
the container until the base of the cuboid reaches the inner base of the cubic container. It is known that no
paint is spilled and the cuboid is not fully submerged in the paints. Find the area of the cuboid in paints.

— Sy

18) At certain minutes past 5, ‘6’ on the clock is at the middle of the minute-hand and the hour-hand. How
many minutes later ‘6’ on the clock is at the middle of the minute-hand and the hour-hand again?

19) How many ways are there for 20 rectangular brick with dimensions 1cmx3cmto fill a grid with
dimensions 3cmx20cm?

20) Inaranch there is a grassland. It is known the grass in the grassland grows at a constant rate and the
growing rate of every hectare of grassland is equal. It is known that 48 sheep can consume all grass of a
10-hectare grassland in 18 days; 21 cows can consume all grass of a 30-hectare grassland in 36 days. It is
also known that a cow consumes 4 times as much grass as a sheep and the consuming speed of both
animals remained constant throughout the process. How many sheep

are needed to consume all the grass of a 60-hectare grassland in 10 days?

~ End of Paper ~
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



